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Practice (continued) Form G

- N
7 1 Zero and Negative Exponents

Evaluate each expression fora=-4,b =3, and ¢ =2.

. 3 -L
21. 3a y 22. 520 AF

23. 4a* b2 C° 5b% or ?1!?.‘ 24. 94°¢* """4

25. —a> 26. (o2 L
-1
N o
Write each number as a power of 10 using negative exponents.

-1

1 -3 1 -1
2 1000 ’D 28 10 10

Write each expression as a decimal.

20t pool . ws0t 6,0008

3
31. The number of people whe vote early doubles every week leading up to an uv° R¥ =7 o0 .i \9_00

election. This week 1200 people voted early. The expression 1200 * 2" models ] - 4
the number of people who will vote early w weeks after this week. Evaluate the \ 90‘ -
expression for w = —3. Describe what the value of the expression represents &
in the situation. # p
1 "3 ]
150 ( The Dxpression 1,200 <272 repribeads e
e Whe voted 3 weks "-ﬁ) ;
32. A pizza shop makes large pizzas with a target diameter of 16 inches. A pizza V’/ 2 3
is acceptable if its diameter is within 3 « 27 in. of the target diameter. Let 3 (Z = = 3
d represent the diameter of a pizza. Write an inequality for the range of 9.3 = ,.T

acceptable large pizza diameters in inches.

53 d <l b-3 <154

33. Open-Ended Choose a fraction to use as a value for the variable ¢. Find the ’b + 3 = ’b 2
values of c_l, c_a, and . q 4

Skip
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7 2 Practice Form G
N Multiplying Powers With the Same Base R

Rewrite each expression using each base only once.

1. 45.43 2. 24.28.22 3. 5%.52%.57

4, 1010+ 107 5 7°.7%.771° 6. 92.9%.95

Simplify each expressicn.

7. 27 8. —4k -6k 9. (=56°)(=3b%
10. (13x7%(3x'%) 1. (2R°) (4R 12. —8n-11%°
13. mnt e mn ™ e mn! 14. (6a35—2)( —4ab_8) 15. (12’“”)(_’"3”'%5)(2’”)

Write each answer in scientific notation.

16. The population of a country in 1950 was 6.2 x 107. The population in 2030 is ’ 8(0 (0
projected to be 3 x 10? times the 1950 population. If the projection is correct, . X ' o

what will the population of the country be in 20307 PIOP(Q

17.” The area of land that Rhode Island coversis approximately 1.5 x 107 square
miles. The area of land that Alaska covers is a little more than 4.3 x 10* times the (0 45 K ,Dg
land area of Rhode Island. What is the approximate area of Alaska in square miles? y )

mi

Simplify each expression.

1 i 1

18, 164 19, 125° 20. 2435
2 ' - i) i
21. §? 22. 643 23. 252

2 3 1 1 5 3 3 Bl 1 1 1 s
24, [7(]3 . 6r5] . [7(}3 . 6r5) 25.(3]’22 - 2/(4) . (Zkz . 3h4) 26_(8}76 . SmZJ . (Sp“ . 5m6j

[ LN

Compiete each equation.

27. 972.9%_9H 28. 59.5°=-5% 29. 28.9H o7

|
30. ZD'Z_5=23 31. m? - mb - m[:| -m’ 32. d7-d‘”-d‘”=dD

Prentice Hall Gold Algebra 1 « Teaching Resources
Copyright @ by Pearcon Education, Inc, or its a¥filiates All Rights Reserved

12



Jax"%

55 um 7‘5 O

Name B Class Date __

7.9 Practice Form G

L S

Multiplying Powers With the Same Base
Find the area of each figure.

33. x4+ 2x 34.

- /'3"2 7/8:1 %150 =

4x2 _

6n+ 5 35 unrifs

. : 36. /<\
51’3 109 Sb, )\\

S%-u.v\l‘"’; 514 QW} 72 SJ am;:

Simplify each expressxon Write each answer in scientific notation.

5.b X|D-1C 2.2 X10°4 9Qx107

37. (7%10")(8 x 107 38. (4% 107"")(0.8 x 107 39. (0.9 x 10)(0.1 x 107%)

40. (0.8 x10°)(0.6 x 1077)  41. (0.5 x 10°)(0.6 x 10°) 42. (0.2 x 10'1)(0.4 x 107

48 X0 "3 3 X102 8x 102

The diamcter of the moon is approximalely 3.5 x 10° kilometers.

a. The diameter of Earth is approximately 3.7 times the diameter of the moon. ; ,.‘
Determine the diameter of Earth. Write your answer in scientific notation. ’ . qu' X lD Km

b. The distance from the center of Earth to the center of the moon is S
approximately 30 times the diameter of Earth. Determine the distance
from the center of Earth to the center of the moon. Write your answer in

scientific notation. 3. %5’ X ‘og Km

Simplify each expression.

PN
[

1 _ 1
= 45, —
n °n X *x

44.

46. Tk'(=2k° - k)
l 1
47. 2x ( -3x? + 5) 48. 4% 4™ o4 49. (n+2y°(n+2)°

50. Writing Explain what moving the decimal point 4 places to the right or to the
left does to the value of a number. In scientific notation, what power of 10 would
you multiply by to move the decimal point 4 places to the right or to the left?

Prentice Hall Gold Algebra 1 « Teaching Resources 2
Copyright @ by Pearson Education, Inc., or its affiliates All Rights Reserved

1A



